LESSON 31

MA 26100-FALL 2023

DDDDDD




(Fall 22 Final Exam #19) N = L

19. Let F = (ax,cz — ax,cz + by) be a vector field, where a,b,c € R. Find
conditions on a, b and ¢ so that F is not conservative and such that curl(F')
is parallel to k.
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ANNOUNGEMENTS

e Exam 2 Scores returned next week

— Hopefully by the end of the day Tuesday @p




Parameterize the surface of the cylinder x2 + y2 = 9 fromz = 0

toz=1  Hinl: Cylindrial Coordinates

(u, v) =(3cos(u),3sin(u),v)for0<u<2r,0<v<1

b) ¥(u,v) = (3sin(u),3cos(u),v)for0 <u<1,0<v<2nm

¢) r¥(u,v) = (3sin(v) cos(u), 3 sin(v) sin(u), 3 cos(v)) for 0 <
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Given 7(u, v) = (3 cos(u), 3 si
(, ,3sin(u),v)for0 <u <2
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(Spring 23 Final Exam #15)
The surface parameterized by
r(u,v) = (5sin(v) cos(u), 5 sin(v) sin(u) , 5cos(v))
IS a:
a) Plane
b) Ellipse
c) Sphere
d) Cylinder

e) Paraboloid




(Fall 13 Final Exam #19)

A normal vector to the surface
r(u,v) = (sin(u), sin(v) cos(v), sin(v))

At (u,v) = (E E) is:

3’3
a) (—3,—-2,1)
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b (-1.3.1)
c) (3,2,1)

d) <—§%2>
e) <§,i,2>




	Default Section
	Slide 1: Lesson 31 ma 26100·Fall 2023
	Slide 2
	Slide 3: Announcements
	Slide 5
	Slide 6
	Slide 7
	Slide 8


